= [OREAY/ DONUT DUATHLONE

RUN - 2 LAP 5KM RUN - T LAP - 2.5KM RUN - 2 LAP 5KM
BIKE - 10 LAPS 15KM BIKE - 5 LAFS - 7.5KM BIKE - 10 LAPS 15KM
RUN - T LAP - 2.5KM RUN - 2 LAP - 1.25KM RUN - T LAP - 2.5KM
RUN - 2 LAP -1.25KM RUN - T LAP - 625M

BIKE - 4 LAFS - 6BKM BIKE - 1 LAFS - 1500M OR SCOOTER - 925M

RUN - T LAP - 6Z5M RUN - T LAP - 200M
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= [OREAY/ DONUT DUATHLONE

RUN - 2 LAP 5KM
BIKE - 10 LAPS 15KM
RUN - T LAP - 2.5KM

RUN - T LAP - 2.5KM
BIKE - 5 LAFS - 7.5KM
RUN - 2 LAP [ASTRO] = 1.25KM
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= [OREAY/ DONUT DUATHLONE

RUN -1.25K - 2 LAPS RUN - 625M = 1 LAP RUN - B25M,
BIKE - 6K - 4 LAPS BIKE -1.5K = 1 LAP SCOOTER - 525M OR BIKE - 1500M
RUN - 6Z5M - 1 LAP RUN - 200M - 1 LAP RUN - 200M
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